Greek Placement Exam

Directions: Please read the passage carefully and answer the questions that follow. The
questions follow the order of the passage.. Remember to record your answers ON THE
ANSWER SHEET. Good Luck!

Part1 Lysias On the Murder of Eratosthenes

In this passage, Euphiletus tells the jury about his murder of Eratosthenes, an
adulterer who had preyed on Euphiletus’ wife.

o Gvdpec, ToDTO e deiv dmdeiton, Mg Epotyevev ‘Epatoc0ivng tv
yovaiko Ty unv kol keivny 1e d1€phelpe Kal ToOLG TOIOG TOVG ELLOVG
foyvve Kol EUE aTov HPRPLoEVY €ig TV oikiav TNV Eunv gict®V, Kol ovTe

&yOpa duol kai dketve ovdepia qv TV TaTNG, 0UTE YpnudTwV Eveka 5

Enpata TadTo, Tva TAOVG10G €K TEVNTOC YEVMUAL, 0DTE BALOV KEPOOVC
000eVOG TANV TH|G KATO TOVG VOUOVS TIL®PTOG.
EYd Toivuv &€ apyifg VUV dmovta EmdeiEm Ta ELanTod TPayuaTa,

000V TaPOAEIT®V, AALL AEy®V TAANOT: TNV YOP ERLOVTD pUOVNV

Nyovuol cotnpioy, 0V LUIV eirelv dravta dSvvndd To TETPOYUEVO. 10
1. What mood is mdeioun ?

A subjunctive

B imperative

C infinitive

D optative

2. In this case, what is the best translation for ®¢ ?
A thus

B that

C SO

D as

3. To whom does the pronoun €keivV refer?

A his children

B himself

C Eratosthenes

D his wife



4. The gender of mOTOOG is
A masculine

B feminine

C neuter

In this case, AOTOV is best translated as
same
himself
the very one
me myself

Sawpw

The word YpnUAT®V is
the object of a preposition
a participle in the nominative
part of a genitive absolute
the third person plural imperative

SaQwr

The conjunction OUTE in line 5 coordinates with/is paralled by
ovdepio
olte
000eVOC
TNV

Oaw»

8.  What sort of clause is Tvo, TAOVG10¢ €K TEVITOC YEVOULAL ?
A purpose clause

B result clause

C relative clause

D genitive absolute

9. What tense is the participle TopoAein@V ?

A Future

B Present

C Aorist

D Perfect

10. In lines 3-4, Euphiletus claims that Eratosthenes had committed violence upon him
by

shaming his children

entering his house

having sex with his wife

being violent towards him in public

oaQw»



11. In lines 4-6, Euphiletus claims that

A no animosity existed between him and Eratosthenes previously
B he is bringing this suit for monetary damages
C he and Eratosthenes had long been enemies

D he did this to avenge the rape of his wife

12. In lines 8-9, Ephiletus assures that jurors that

A he showed them everything from the beginning

B he had shown them everything from the beginning
C he is showing them everything from the beginning
D he will show them everything from the beginning

13. What gender is @movto?

A masculine
B feminine
C neuter

14. In lines 10-11, what sort of conditional statement is TOVTNV YOP EQLOVTD HLOVNV
nNyodpot copiay, Eav VUV eInelv dnava SuvnO® TO TETPAYUEVA?

A Past Contrary to Fact
B Present General

C Future Less Vivid

D Past General

15. In this same statement, Euphiletus assures that jurors that, if he is able to tell them
everything,

he considers salvation will arise for his wife

he considers only he will be saved

he considers this confession to be a safe thing

he considers this to be his only salvation

oaQw»

Part I1 Homer’s Iliad

In this passage, Hector asks Achilles for an act of mercy.
TOV 0" OMyodpavémv Tpocépn kopvBaiolog “Extmp:
Mooop’ VIEp Yuyiic Kol YOOVeV 6BV T TOKN®OV

U pe &a mopd vnuoi Khvog Kotaddyol Ayaidyv,

ALY GV PEV YOAKOV TE BAIC YPLGOV TE 0E0EE0



dMPa TA TOL OMGOVCL TATNP Kol TOTVIOL UNTNp, 5
odpa 6¢ olkad™ EUov ddpeval A, SQpa TVPAG L

Tpdeg kai Tpowv droyot AeAdywot Bavovra.

TOV 0 Gp” VIHOpa IOV TPOGEPT TOSUG OKVG AYIAAEDS

Un He KOOV YOUV®V YOLVALED UT) O TOKNWV:

ol YOp Toc o0TtoOV pe névoc Kol Qupoc avin 10

O’ dmotapuvopevov kpéa Edpevar, ola Eopyac,

16. In lines 1 and 8, the word TOV is best translated as

A the
B who
C it

D him

17. What is the name for the phenomenon that has caused the last letters of Alocop’ to

disappear?

A elision
B crasis
C hiatus
D caesura

18. The Ko in line 2 is coordinated with/parallel to

A Topa
B AL
C m
D TE

19. In line 3, Hector begs Achilles

A not to allow his father to see him dead
B not to allow the Greeks to harm him
C not to allow the dogs to eat him

D not to leave his body by the ships

20. The particle pev is coordinated with/paralleled by
A TE



TOl
Kot
0¢

W@ ve!

21. What is the antecedent of the relative pronoun TQ ?
A déde&o

B ddpa

C AL

D ocOu

22. What tense is d0)GOVG1 ?

A present

B future

C imperfect

D aorist

23. In this case, the best translation for dOpEVOL is
A to give

B was giving

C give

D is giving

24. What is the best translation of d@pa?
A that

B until

C before

D so that

25. What mood is AeAGy®G1?

A indicative

B imperative

C subjunctive

D optative

26. The participle Oavovta refers to

A Achilles

B Hector

C Priam

D Paris

27. What special use of the accusative is exemplified in the phrase TOS0G OKVG
Ayiddeng?

A accusative of respect



B accusative of time during which
C accusative absolute
D internal accusative

28. In line 9, the negator W1 is used instead of OV; this is because

A the verb is in the subjunctive

B the verb is in the optative

C the verb is in the imperative

D the verb is part of a subordinate clause

29. Line 10, o1 yap TS o0TOV pe pEVOCS kol Bupog dvnn, is best translated as
A if only I could stir my wrath and my heart

B if only the same thing could stir my wrath and my heart

C if only my wrath and my heart could stir me

30. What is the name of the meter that this passage is written in?

A Tambic Pentameter
B Trochaic Tetrameter
C Dactylic Hexameter
D Blank Verse
Part I11 New Testament Greek

From the Gospel of Matthew; the devil tempts Jesus.
Tote [0] ITnoodg dvyOn €ic v Epnuov Vo 10D TVedUATOC,
nepacOfjval Vo Tod daorov.

Kol vnotevoag NUEPAS TEGOEPAKOVTO, Kol VOKTOC TEGOEPAKOVTO,

votepov Enelvacey.
Koai tpocelbmv 0 mepdlwv einev ant® “Ei viog 1 tod Beod, 5

eimov tva. o1 AiBot ovtol dptotl yévavtat.

0 0¢ amokpdeic eimev I'éypamton “Ovk €n” dpTte wove (noeton 6

dvOpwmoc, AL €mi TOVTL PIULATL EKTTOPEVOUEVE 010, GTOUOTOC

0c0v.”

Tote maparapfdver adtov 6 d1dfolog eic v ayiav moOAY, Kai



£€otnoev avToV £mi TO TTEPVYIOV TOD igpoD, Kal Aéyel avtd Ei viog

el Tod 00D, Pale ceaLTOV KhTO: Yéypomtor yap 6Tl “Toic dyyéhotg

aVTOD Evteleital mepil cod Kal £l yep®dV Apodciv oe un moTe

TPOooKOWNC TpOc AOov TOV TOdO Gov.”

31. What tense and voice is V101 ?
A aorist middle

B perfect middle

C future passive

D aorist passive

32. What gender is £EpT|LOV ?

A masculine
B feminine
C neuter

33. The participle VT]G’CSI')(S 0 refers to
A Jesus

B the Devil

C the days spent in the desert

D the nights spent in the desert

34. What special use of the accusative case is exemplified in )UEPOC

TEGGEPAKOVTA ?

accusative of respect
accusative of extent of space
accusative absolute
accusative of duration of time

oSaw»

35. The phrase TPOGEAOWV O TEPALWV EIMEV is best translated as

A having spoken, the one testing came forward
B having been tested, the one coming forward said
C having come forward, the one testing said

36. In line 5, this use of the dative (QOT®) is
A the indirect object

B the object of a preposition

C the dative of means

D the dative of personal agent



37.

@ >

TOWFRE R UOwWRY

N
()

SowrsE UOw»

oQw> B

oOow>

The adjective OVTOL is modifying/agreeing with
apTol
AMBot

. What mood is YEVOVTOL ?

indicative
subjunctive
optative
imperative

. The phrase OOK € Apt® UOV® (Noetal 0 AvOP®TOG is best translated

man is not nourished by bread alone
bread alone will not nourish man

man will not be nourished by bread alone
bread alone does not nourish man

. The participle EKTTOPEVOUEV® modifies

GTOUOTOG
TOVTL
pripaTL
Beod

. The phrase BAAE GEQVTOV is best translated as

throw yourself

you are throwing yourself
throw the man himself
throw the same man

. What part of speech is KAT® ?

noun
adjective
adverb
verb

. What tense and mood is YEYPOTTTOL ?

aorist passive
perfect middle/passive
perfect active
future passive



44. Tn this case, the best translation of OTL is

A that

B since

C because
D so that

45. The clause U1 TOTE TPOGKOYNC TPOG MOOV TOV TOOM. GOV is best
translated as

do not ever touch your foot to the ground!

please do not ever touch your foot to the ground

whenever you do not touch your foot to the ground

so that you do not ever touch your foot to the ground

oSaw»

Part1V Mythology and Culture/History

This section is meant to test your general knowledge of Greek Mythology and
Culture.

46. The hallmark of the Greek conception of the gods.

A Animism

B Anthropomorphism
C Deism

D Monotheism

47. At the heart of Greek religious ritual is what action?
A Blood Sacrifice

B Prayer

C Folk Magic

D Choral Dancing

48. The father of Zeus is

A Cronos
B Uranos
C Prometheus

D Poseidon

49. The divine protector of Athens is

A Heracles
B Aphrodite
C Zeus

D Athena



COWFPY TOWPL UOWRY UOWRY TOTPYL TUO@WRY UOW>Y
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. Persephone is kidnapped by

Poseidon
Zeus
Hades
Paris

. Who of the following was the author of the Works and Days?

Homer
Ovid
Hesiod
Plutarch

. Zeus punished Prometheus for which of the following?

for giving men hope

for creating Pandora

for the deception of the sacrifice
for the creation of man

. What is the most important difference that separates the gods from humans?

They are of immense stature.

They are more powerful than men.

They are immortal.

Their knowledge is superior to that of mortals.

. Chthonian deities are deities who

inhabit Olympus.

animate nature men.

are long-lived but not immortal

are associated with the earth and the Underworld

. What historical event is commemorated in the construction of the Parthenon?

the battle of Lapiths and Centaurs
the conquest of the Amazons

the Trojan war

the defeat of the Persians

. In what dialogue does Plato inquire into the nature of Eros?

The Apology
The Euthyphro
The Symposium
The Republic

. Who was the famous poet from Lesbos?

Lesbia
Sappho
Homer



D Pindar

58. What island is the site of Apollo's birth and site of a famous sanctuary?
A Samos

B Delphi
C Delos
D Lesbos

59. In the Bacchae, what young king of Thebes rejects the worship of Dionysus?
A Lycurgus

B Pentheus

C Icarius

D Cadmus

60. Where is the chief sanctuary for the performance of Demeter's mysteries?
A Dodona

B Olympia
C Delphi
D Eleusis

61. What comedy by Aristophanes features the god Dionysus journeying to the
Underworld?

A Clouds
B Frogs
C Birds
D Wasps

62. Achilles in the Underworld tells Odysseus:

A that he should beware the fickle heart of women and return home quickly
B that he should find his body and bury it properly

C that he should not have killed Hector

D that he would rather be a slave among the living than a king in Hades

63. What term is used to describe the harmonizing of different cults and their myths into
some kind of unity?
A diffusion

B syncretism
C affinity
D verisimilitude

64. What is arete?
A excellence
B piety

C temperance
D suffering



65. Achilles had a choice between:

A marrying Cassandra or Iphigenia

B exchanging armor with Glaucus or Diomedes

C dying young in glory or living long with no fame
D being king of Sparta or of Athens

66. Who was the leader of Athens during Peloponnesian War?
A Pericles

B Praxilites
C Socrates
D Demosthenes

67. At Marathon, the Athenians defeated which enemy commander?
A Hannibal

B Xerxes
C Alexander
D Darius

68. At the battle of Leuktra, Sparta was defeated by

A Macedon
B Thebes

C Athens
D Persia

(Please continue to the images on the following pages and questions 69 and 70)



69. The picture below is of the mythical figure

A Heracles
B Leonidas
C Ares

D Theseus



70. The picture below is of the historical figure
Pericles

Achilles
Themistocles
Alexander the Great

A
B
D







